COND_JVJOUNTS

Column Monitor Mount

Installation Video

s==-=,s@

= H .= -! l
= = = l L) o e =
=Ill=::== IE;==I-=EEIII‘
,;l:uan:]vpuu'rs =
"5 B

US PATENT NO. US11221102B2

CLMMMA2022

Need Help? Contact our pros:

\. 647-557-5699 ¥ support@condomounts.com

@ condomounts.com

0-8kgs/0-17.61bs 75/100/200

-90°/+85°

tRJota;el




WARNING STATEMENTS

Warning

Prior to the installation of this product, the installation instruction must
be read and completely understood. Failure to do so may result in
personal injury, property damage or voiding of manufacturer warranty.

Pay attention to the weight capacity of the mount. Exceeding
the limitation can result in impairment or serious injury
and property damage.

Never operate the mount if parts are missing or damaged.

Do not use this product for any purpose or in any configuration not
explicitly specified in this instruction. We hereby disclaim any and all
liability for injury or damage arising from incorrect assembly, incorrect
mounting, or incorrect use of this product.

PRODUCT LINE GRAPH

0 ¥1-0/WWGGE-0

«C L/WWG E8L

3.5"/9cm
FREE END STRAP 3”/7.5” P'érs:mbi@ié' o
OF STRAP ‘ i 7 I FULL OPEN

POSITIONC _/

LOCKED




FREE END
OF STRAP

STRAP

PARTS AND HARDWARE

M4x8 (x4) M4x12 (x4) M4x30 (x4)

N

12X5.8X16 (x4)

ll««««'

A & =

M8x16 (x2) (x2) (x1) (x1)

- 1 - 1

S=3mm (x1) S=5mm (x1)

(x1)

‘k,””’

<

@)

M5 (x4)

Extra screw

) 2

ay

M5x6 (x3)




STEP 1 : ATTACH COLUMN MOUNTING BRACKET TO POST/COLUMN

TWO PEOPLE

FREE END
OF STRAP

Hold column mounting bracket to the column
where you would like fo mount the monitor

STEP 1 : ATTACH COLUMN MOUNTING BRACKET TO POST/COLUMN

TWO PEOPLE

Ask a second person to wrap the strap
around the column




STEP 1 : ATTACH COLUMN MOUNTING BRACKET TO POST/COLUMN

Person #2 should insert free end of strap
into the slot of the ratchet buckle

STEP 1 : ATTACH COLUMN MOUNTING BRACKET TO POST/COLUMN

4b. Crank the handle to tighten
the strap until it feels taut
and secure.

N\

A
()
2 -
=&

4c. Close the buckle to lock it.

4a. Bring the ratchet buckle snug to 4d. Repeat steps a, b and c for
the column and pull the strap tight. the bottom strap.




STEP 1 : ATTACH COLUMN MOUNTING BRACKET TO POST/COLUMN

Cut extra strap or fold and tuck away.

TO MAKE ADJUSTMENTS AFTER INSTALLATION

TV too high¢ Too low?¢ Not centered? No problem!

HOW TO ADJUST THE POSITION OF THE
COLUMN MOUNTING BRACKET

) FULL OPEN
POSITIONG !

. Do not adjust the column mounting bracket
A CAUTION: while the TV is mounted

a. To release the strap pull, and hold the lever towards the handle,
then rotate the handle all the way to position C.

b. Move your column mounting bracket to the new desired position
and tighten.

Need Help?¢ Contact our pros:

. 647-557-5699 & support@condomounts.com @ condomounts.com




STEP 2 : ATTACH ARM TO COLUMN BRACKET

Insert and fasten the screw
through the washer and put on
the plastic connection cap.

Insert the Extention Arms to the wall plate and Put Spring Arms onto the
extension arm.

STEP 2 : ATTACH ARM TO COLUMN BRACKET

Cable Management Installation




STEP 3 : ATTACH MONITOR TO ARM

Aftach adaptors if 200 x 200 VESA is required.

STEP 3 : ATTACH MONITOR TO ARM

mlmm,,
M4x8

Cllllllzzzzz@
M4x12 M4x30

12X5.8X16

Flush Surface Installation: Install 4 screws through faceplate to monitor via
mounting holes.

Recessed Surface Installation: Put 4 spacers between faceplate and
monitor. Install 4 screws through faceplate, spacers to monitor via mounting
holes.




STEP 3 : ATTACH MONITOR TO ARM

Lift the VESA plate along with monitor and put it on head slot.

ADJUSTMENTS
GAS SPRING TENSION ADJUSTMENT

position

Be sure to keep the arm in horizontal
position during adjustment. Or else, it
would be difficult to adjust the mount.

Q)
1 turn = 1 Ibs = 0.4kg
[

NOTE: Turn clockwise to reduce
tension for lighter monitors and

counter-clockwise to increase

tension for heavier monitors.

Use a hex wrench to adjust the height tension of the gas spring arm after
the monitors are installed, to keep different weight of monitors
still at any position.




ADJUSTMENTS
TILT & SWIVEL ADJUSTMENT

VESA Swivel
Adjustment

Arm Swivel Adjustment

Tighten the bolt with the Allen Key to make the tilt and swivel adjustment.

ADJUSTMENTS
MANAGE CABLES

Route the cables along the mounting arm.




